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Solution in Cartesian Coordinates
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Parameters of the circular motion

For thermal electron plasma
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Je to skutečně pohyb po kružnici ???



Charged particle motion in constant and uniform electromagnetic fields

kBABAjBABAiBABA

BBB

AAA
kji

BxA xyyxzxxzyzzy

zyx

zyx





)()()( −+−+−==

)( BxvEqF
dt

pd 
+==

x

y

cosABBABABABA zzyyxx =++=•




A

B

z

sinABBxA =


ZYxX


=BxA


)( BxvEq
dt

vd
m


+=

0
)

2
1( 2

=
dt

mvd

vBxvq
dt

vd
m




/)(= 0).(. == vBxvqv
dt

vd
m




0
)

2
1(

.

2

==
dt

mvd
v

dt

vd
m




Static magnetic field does not change the particle kinetic energy. 

This result is valid whatever the spatial dependence of the magnetic flux density B

Energy conservation E=0 B≠0



Energy change in electrostatic and magnetostatic field
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Částice se bude pohybovat v E a B tak, aby splňovala rovnici
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Energy change in E-B field
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Energy change in E-B field , E perpendicular to v of particles (to Beam) 
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Energy change in static E/B field
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Některé postupy jsou „nestandardní“

ale pokud víme výsledek….

tak je snadno odvodíme……
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Perpetum mobile 1. druhu   
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Coaxial magnetic mirror

From Lorentz force 

For diamagnetic particle



Jak řešit magnetické pole  



Jak řešit magnetické pole  
◼ Difúze
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Jak řešit magnetické pole  
◼ Difúze
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Žádný ztráty (uniky)???!!!!



Transportní rovnice pro plazma – vodivost a magnetické pole
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With collisions it is driftElektronova cyklotronova frekvence



Srážky a magnetické pole   
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Odvození rovnice pro drift a difuzi z B. rovnice  

Drift + Diffusion  Rovnice B
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Difúze a Drift v magnetickém poli   ◼ B
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Zjednodušeně

A co dál ????…… budeme řešit pro jednoduché konfigurace



Difúze napříč magnetickým polem   
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